Chapter 21 Problem II (+1)




Name __________________________

9. How many equivalents are in the following?

a) 0.55 L of 1.8N NaOH

b) 1.6 L of 0.50N H3PO4
c) 250 mL of 0.28N H2SO4
10. What is the normality of each solution?

a) 20.0 g NaOH in 1.0L of solution

b) 4.9 g H2SO4 in 500 mL of solution

c) 15.0 g HCl in 0.400L of solution

d) 88.0 g H3PO4 in 1.50 L of solution

11. How many milliliters of 3.0N KOH are needed to prepare 870 mL of 0.20N KOH?

12. How would you prepare 500mL of 0.20N H2SO4 from stock solution of 4.0N sulfuric acid?

13. If you need 50.0mL of 0.152N HCl to neutralize 29.2 mL Ca(OH)2, what is the normality of the base?

14. What is the normality of a solution of a base if 25 mL is neutralized by 75 mL of 0.40N acid?

15. How many milliliters of 0.850N HCl would you need to neutralize 25.0 mL of 0.480N NaOH?

16. How many milliliter of 1.05N NaOH are needed to neutralize 50.0mL of 0.620N H2SO4?

17. How is acid-base titration used to calculate the concentration of an acid or a base?

